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Rubric 
M300560D Analytic Rubric 

Score Description 

4 

The response includes the following 4 elements: 

• Computation = 1 point: Correct fraction to represent the location of 
point G: 2

6
  or equivalent 

• Reasoning = 1 point: Valid explanation using the number line to 
determine the location of point G 

• Reasoning = 1 point: Valid explanation of how to mark the spaces 
between the whole numbers to show thirds 

• Reasoning = 1 point: Valid explanation of how to plot 5
3
 on a number 

line 

 

Sample Student Response: 

The distance from 0 to 3
6
 is divided into 3 equal-sized parts, so each part is 1

6
. 

Point G is located at the mark that is 2 parts to the right of 0, so it is located 
at 2

6
. 

To plot 5
3
 on a number line, I first need to mark each space between whole 

numbers to show thirds. Then, I will count 5 marks to the right of 0 on the 
number line. I will plot my point at 5 marks to the right of 0 on the number 
line to show 5

3
. 

 
Or other valid response.  

3 Student response includes 3 of the 4 elements. 

2 Student response includes 2 of the 4 elements. 

1 Student response includes 1 of the 4 elements. 

0 Student response is incorrect or irrelevant. 
 
  



© 2022 CCSSO, LLC M300560D Page 3 of 45 

 

Anchor Set 
A1 – A15 
With Annotations 
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Anchor Set 

 

Anchor papers are labeled using a capital “A” followed by the sequence number (e.g., 
A1, A2). 

Anchor papers include  

o The prompt.  

o The student response.  

o A score in the top right corner. 

The annotation follows the anchor paper, and  

o Is aligned to the rubric. 

o Contains parts of the student response(s) that, based on the rubric, support 
the scoring of each element.  

o Reflects the original spelling and grammar of student response(s).  

 Example of scoring element within an annotation, with student 
response language (in parentheses): 

The correct fraction to represent the location of point G is given (the 
fracktion equeals 2

6
). 

o May contain Scoring Decisions or clarifying notes. 

The Anchor Set section is followed by a practice set with a scoring matrix. Annotations 
are not included in the Practice Set section. 
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A1 
4 
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Annotation  

Anchor Paper 1 
 
Score Point 4 
 
This response receives full credit. It includes all of the four required elements. 
 

• The correct fraction to represent the location of point G is given (the fraction is 
2
6
). 

 
• A valid explanation using the number line to determine the location of point G is 

given (hop and stop at 1 and one is 6
6
  and the mildle is 3

6
 so then go to the G and 

it will be 2
6
). The response shows understanding that the number line is divided 

into sixths and that each increment represents one sixth. 
 

• A valid explanation of how to mark the spaces between the whole numbers to 
show thirds is given in the form of a drawing of a line segment correctly divided 
into thirds. The (1) above the (3

3
 )shows understanding that each whole is divided 

into thirds. Although the drawing provides a line segment instead of a number 
line with arrows, sufficient understanding is shown. 

 
• A valid explanation of how to plot 5

3
 on the number line is given in the drawing 

box, and shows the fraction correctly placed on the line segment. 
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A2 
4 
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Annotation  

Anchor Paper 2 
 
Score Point 4 
 
This response receives full credit. It includes all of the four required elements. 
 

• The correct fraction to represent the location of point G is given (point G on the 
number line is 2

6
). 

 
• A valid explanation using the number line to determine the location of point G is 

given (there are six points [marks] on the number line. So lets look at what is 
by the 2 point. Just like any number 1 is by 2 and so is 3. But wait, 3

6
 is on the 

number line and that is equeal to 1
2
. So point G on the number line is 2

6
). The 

drawing box shows a number line that is not labeled and not acceptable by itself, 
but it helps support the explanation. 

 
• A valid explanation of how to mark the spaces between the whole numbers to 

show thirds is given (you could have the denominator as 3 but make there be 
two wholes) along with a drawing of a number line that is divided into thirds. 
The number line labels the whole numbers (1, 2), and clearly divides the wholes 
into thirds. 

 
• A valid explanation of how to plot 5

3
 on the number line is given in the form of a 

drawn number line that clearly divides each whole into thirds, with one 
increment marked along with the explanation (Below I will make a number line 
with 2 wholes and the denomatoir as 3. That is how you make 5

3
 on a number 

line). Neither the explanation nor the drawing box is sufficient by itself since the 
fraction 5

3
 is not labeled on the drawing, but the entire response shows the 

fraction is correctly marked on the number line. 
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A3 
4 
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Annotation  

Anchor Paper 3 
 
Score Point 4 
 
This response receives full credit. It includes all of the four required elements. 
 

• The correct fraction to represent the location of point G is given (G is 2
6
). 

 
• A valid explanation using the number line to determine the location of point G is 

given (number line is split into sixths and if you count up to G the numanator is 
2) as supported by the drawn number line that correctly divided into sixths with 
a mark correctly placed on the location of 2

6
.  

 
• A valid explanation of how to mark the spaces between the whole numbers to 

show thirds is given (5
3
= 10

6
 because 6 ÷ 3 = 2 so every 2 sixth tick mark is 1

3
). 

 
• A valid explanation of how to plot 5

3
 on the number line is given in the form of a 

number line in the drawing box. 5
3
 is correctly placed on the number line. 
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A4 
3 
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Annotation  

Anchor Paper 4 
 
Score Point 3 
 
This response receives partial credit. It includes three of the four required elements. 
 

• The correct fraction to represent the location of point G is given (point G would 
be 2

6
). 

 
• A valid explanation using the number line to determine the location of point G is 

given (I counted the spaces between 0 and 1 which are the 2 consequative 
whole numbers and I got 6 spaces and I syoped [stopped] at ponit G . . . and I 
got 2

6
). 

 
• A valid explanation of how to mark the spaces between the whole numbers to 

show thirds is given (I could put 3 whole numbers instead of 2 and put 3 spaces 
between the whole numbers). 

 
No explanation of how to plot 5

3
 on the number line is given. Although the response 

explains how to draw the number line, it does not explain how to plot the fraction 5
3
 . 
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A5 
3 
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Annotation  

Anchor Paper 5 
 
Score Point 3 
 
This response receives partial credit. It includes three of the four required elements. 
 

• The correct fraction to represent the location of point G is given (point G is  2
6
 ). 

 
• A valid explanation of how to mark the spaces between the whole numbers to 

show thirds is given in the form of a number line that is clearly divided into 
thirds along with the supporting explanation (I would plot 5

3
 on the number line 

by putting a 1 at half and a 2 at the end because 5
3
  is over the whole which 

    is 3
3
 ). The written explanation is vague and not sufficient by itself, but the 

number line is sufficient by itself. 
 

• A valid explanation of how to plot 5
3
 is given in the form of a number line that 

clearly divides each whole into thirds and correctly marks and labels the 
fraction 5

3
. 

 
No explanation using the number line to determine the location of point G is given. 
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A6 
3 
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Annotation  

Anchor Paper 6 
 
Score Point 3 
 
This response receives partial credit. It includes three of the four required elements. 
 

• The correct fraction to represent the location of point G is given (point G is the 
fraction 2

6
 ). 

 
• A valid explanation of how to mark the spaces between the whole numbers to 

show thirds is given in the form of a number line that is clearly divided into 
thirds along with the supporting explanation (make the number line longer so 
you can add another whole to it and then put 5

3
 on the number line.3 is the 

denominator and 3 is half of 6 so you can make the number line under the other 
and make the denominator 3.) Although the number line does not show the 
whole number 2, and therefore the area between 1 and 2 is not clearly divided 
into thirds, the (1) above the (3

3
 ) shows understanding that each whole needs to 

be divided into thirds. The written explanation is vague and not sufficient by 
itself, but the number line is sufficient by itself. 

 
• A valid explanation of how to plot 5

3
 is given in the form of a number line that is 

clearly divided into thirds, and 5
3
 is marked and labeled. It is acceptable to use 

the label G to represent the fraction 5
3
. 

 
No explanation using the number line to determine the location of point G is given. 
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A7 
2 
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Annotation  

Anchor Paper 7 
 
Score Point 2 
 
This response receives partial credit. It includes two of the four required elements. 
 

• The correct fraction to represent the location of point G is given (G is on 2
6
 ). 

 
• A valid explanation using the number line to determine the location of point G is 

given in the form of a number line that is correctly divided into sixths and the 
dot placed on the location of 2

6
, as explained in the answer box (the first number 

is 0 and the secont fraction is 1
6
  I know that it is 2

6
 because the midile fraction is 

3
6
  so that means that it2 is 2

6
 ). Each of the answer box and the drawing box is 

acceptable for credit by itself. 
 
An incorrect explanation of how to mark the spaces between the whole numbers to 
show thirds is given in the form of a number line that is divided into sixths instead of 
thirds. The number line ends at 1 instead of 2, and 3

3
 is not marked as 1. 

 
An incorrect explanation of how to plot 5

3
 is given in the form of a number line that 

labels 5
6
 as 5

3
. 
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A8 
2 
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Annotation  

Anchor Paper 8 
 
Part C: Score Point 1 
 
Anchor Paper 8 
Score Point 2 
 
This response receives partial credit. It includes two of the four required elements. 
 

• A valid explanation of how to mark the spaces between the whole numbers to 
show thirds is given (you have to draw your number line with thirds then you 
put two wholes on the number line). 

 
• A valid explanation of how to plot 5

3
 on the number line is (after that you label 

your tick marks 1
3
 all the way until you get to 5

3
). This explanation describes 

drawings like Anchor Papers 1 and 5. 
 
No fraction to represent the location of point G is given. 
 
No explanation using the number line to determine the location of point G is given. 
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A9 
2 
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Annotation  

Anchor Paper 9 
 
Score Point 2 
 
This response receives partial credit. It includes two of the four required elements. 
 

• The correct fraction to represent the location of point G is given ( 2
6
 ). The 

explanation (it’s 2 6ths) is also acceptable for credit. 
 
• A valid explanation using the number line to determine the location of point G is 

given (there are 6 spaces G is on the 2nd line so…it’s 2 6ths). 
 
No explanation of how to mark the spaces between the whole numbers to show thirds 
is given. 
 
No explanation of how to plot 5

3
 on the number line is given. 
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A10 
1 
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Annotation  

Anchor Paper 10 
 
Score Point 1 
 
This response receives partial credit. It includes one of the four required elements. 
 

• The correct fraction to represent the location of point G is given (The fraction for 
G is 2

6
 ). 

 
No explanation using the number line to determine the location of point G is given. 
 
No explanation of how to mark the spaces between the whole numbers to show thirds 
is given. 
 
An incorrect explanation of how to plot 5

3
 on the number line is given (find 5

3
 by starting 

one after 0 and then count to 5 and see were you get). Without first dividing the 
number line into thirds, counting to 5 will result in an incorrect placement of the 
fraction. 
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A11 
1 
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Annotation  

Anchor Paper 11 
 
Score Point 1 
 
This response receives partial credit. It includes one of the four required elements. 
 

• The correct fraction to represent the location of point G is given ( 2
6
 ). 

 
An incorrect explanation using the number line to determine the location of point G is 
given in the form of a line segment that does not label 0 and 1, and is not clearly 
divided into sixths. Contrast with correct drawings of the number line on Anchor 
Papers 2 and 3. 
 
No explanation of how to mark the spaces between the whole numbers to show thirds 
is given.  
 
No explanation of how to plot 5

3
 on the number line is given. 
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A12 
1 
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Annotation  

Anchor Paper 12 
 
Score Point 1 
 
This response receives partial credit. It includes one of the four required elements. 
 

• The correct fraction to represent the location of point G is given (G repsent 2
6
). 

 
No explanation using the number line to determine the location of point G is given. 
 
An inadequate explanation of how to mark the spaces between the whole numbers to 
show thirds is given. A number line is drawn, but labels are not provided for the whole 
numbers, so it does not show a number line divided into thirds. 
 
An inadequate explanation of how to plot 5

3
 on the number line is given in the form of a 

drawn number line in the drawing box that shows a tick mark labeled ( 5
3
 ). Since the 

number line is not correctly divided into thirds, the fraction would not be placed 
correctly. 
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A13 
0 
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Annotation  

Anchor Paper 13 
 
Score Point 0 
 
This response receives no credit. It includes none of the four required elements. 
 
An incorrect fraction to represent the location of point G is given (its 2). 
 
An incorrect explanation using the number line to determine the location of point G is 
given (it starts with 0 and to 1 and then 2 that’s where point g is). The number line in 
the drawing box is also incorrect as it shows whole numbers and not fractions. 
 
No explanation of how to mark the spaces between the whole numbers to show thirds 
is given. 
 
No explanation of how to plot 5

3
 on the number line is given. 
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Annotation  

Anchor Paper 14 
 
Score Point 0 
 
This response receives no credit. It includes none of the four required elements. 
 
No fraction to represent the location of point G is given. 
 
No explanation using the number line to determine the location of point G is given. 
 
An incorrect explanation of how to mark the spaces between the whole numbers to 
show thirds is given (split it into 5 parts). The drawing also shows the number line 
divided into fifths instead of thirds. 
 
An incorrect explanation of how to plot 5

3
 on the number line is given (jump 3 parts). 

The drawing also shows an incorrect understanding. 
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A15 
0 
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Annotation  

Anchor Paper 15 
 
Score Point 0 
 
This response receives no credit. It includes none of the four required elements. 
 
An incorrect fraction to represent the location of point G is given (G stands for 3

5
). 

 
An incorrect explanation using the number line to determine the location of point G is 
given (the number line shows every number that can do thirds like 3

3
∙ 3
4
 3
5
). 

 
No explanation of how to mark the spaces between the whole numbers to show thirds 
is given. 
 
No explanation of how to plot 5

3
 on the number line is given. 
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Practice Set 1 
P1-1 – P1-10 
Annotations Not Included 
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P1-1 
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P1-2 
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P1-3 

 
  



© 2022 CCSSO, LLC M300560D Page 38 of 45 

P1-4 
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P1-5 
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P1-6 
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P1-7 
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P1-8 
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P1-9 
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P1-10 
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Practice Set Paper Score 
P1-1 2 
P1-2 4 
P1-3 1 
P1-4 0 
P1-5 2 
P1-6 3 
P1-7 0 
P1-8 4 
P1-9 1 
P1-10 2 
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